Name
  Date
  Class


[image: image1.jpg]2x+ 3



Multiplying Polynomials
Practice and Problem Solving: C

Multiply.

1.
2(x  5)(x  6)
2.
3(a  7)(a  3)
3.
5(8  d)(4  d)

4.
4(2x  3)(x  4)
5.
6(5b  1)(b  2)
6.
2(3p  2)(2p  3)

7.
 (2k + 7)(5k  9)(2k  4)
8.
 m2(2m  5)(3m  8)
9.
8g2(4  7g)(5  8g)

10.
rs(r  2s)(r  6s)
11.
4v(3  2v)(2  5v)
12.
(3  4h)(5  9h + 2h2)

13.
(2y2  3y - 9)(3y2  6y + 5)
14.
(3z + 7)(6z  5)2
15.
4c(3c  7d)(3c  7d)

16.
3w2 + 8w + 4)(4w  9)2
17.
2a(3a  4)2
18.
qr(5q2  8r2)(5q2  8r2)

19.
(3x  1)(2x2  3x  7)
20.
(5z  6)(2z  1)(2z  1)
21.
(x  2)(5x  3)2
Solve.


22.
Write a polynomial that represents the volume of the cube. 

23.
Explain how you can use the polynomial to find the volume 
of the cube in problem 22 if x  4 in. Then find the volume 
when x  4 in. How can you check your answer?


24.
Multiply (n  1)(n  1), (n  1)(n2  n  1), and (n  1)(n3  n2  n  1). Describe the pattern of the products. Use the pattern to find (n  1)
(n4  n3  n2  n  1).

11.
10a4b2

12.
(5y3 ( 35y2 ( 10y
Reading Strategies


1.
monomial


2.
polynomial


3.
polynomial


4.
polynomial


5.
monomial


6.
polynomial


7.
monomial


8.
polynomial


9.
polynomial


10.
monomial


11.
polynomial


12.
polynomial

Success for English Learners


1.
Possible answer: Subtracting is the same as adding a negative, which would give a 4mn. Multiplying that by 5 is multiplying two negatives, which makes a positive. So it would change to addition.


2.

Possible answer: Because the monomial you are multiplying by does not have a variable or power.


3.
Possible answer: All of the positive numbers in the answer would be negative, and all the negatives would be positive.


4.
12x3 y3  36x10  6x2 y4 
LESSON 14-4

Practice and Problem Solving: A/B


1.
x2  11x  30


2.
a2  10a  21

3.
d2  4d  32


4.
2x2  5x  12


5.
5b2  9b  2


6.
6p2  5p  6


7.
10k2  38k  36

8.
6m2  m  40


9.
20  3g  56g2
10.
r2  4rs  12s2

11.
6  19v  10v2


12.
25  h2

13.
y2  9

14.
z2  10z  25


15.
9q2  49


16.
16w2  72w  81


17.
9a2 24a  16


18.
25q2 64r2


19.
x3  7x2  17x  20


20.
m3  5m2  3m  20


21.
8x3  26x2  17x  5


22.
5x2  6x  1

23.
105 in.2

24.
3x2  12; $351

Practice and Problem Solving: C


1.
2x2  22x  60


2.
3a2  30a  63

3.
160  20 d  5d2


4.
8x2  20x  48


5.
30b2  54b  12


6.
12p2  10p  12


7.
20k2  76k  72

8.
6m4  m3  40m2


9.
160g2  24g3  448g4


10.
r3s  4r2s2  12rs3


11.
24v  76v2  40v3


12.
150h2  486h4


13.
4y5  9y

14.
108z2  180z  75


15.
36c3  196cd2


16.
48w3  216w2  243w


17.
18a3  48a2  32a


18.
25q5r  64qr5


19.
6x3  11x2  18x  7


20.
20z3  24z2  5z  6

21.
25x3  20x2  51x  18


22.
8x3  36x2  54x  27

23.
Substitute 4 for x and evaluate the polynomial.; 1,331 in.3; substitute 4 in 
2x  3 and cube it. The results should be the same.


24.
n2  1; n3  1; n4  1; the greatest power of n in the polynomial is increased by 1 and the product is the difference between that power of n and 1; n5  1

Practice and Problem Solving: D


1.
x2  7x  10


2.
x2, 3x, 4x, 12; x2  x  12


3.
x2  11x  30


4.
a2  10a  21


5.
d2  4d  32


6.
x2  10x  25


7.
x2  20x  100

8.
x2  49


9.
x2  8x  16

10.
b2  4b  4

11.
p2  81

12.
x3, 4x2, 7x, 3x2, 12x, 21;
x3  7x2  19x  21


13.
y3  8y2  17y  10

14.
p3  p2  14p  8


15.
n3 6n2  9n  2


16.
x2  x  6

Reteach


1.
x; 4; x2 ( x ( 20


2.
x; 2; x2 ( 6x ( 16


3.
x; 3; x2 ( 9x ( 18


4.
x2 ( 5x ( 6


5.
x2 ( 49


6.
x2 ( 3x ( 2


7.
x, 3; 2x3 ( 10x2 ( 20x ( 24

8.
x, 2; 6x3 ( 16x2 ( 13x ( 10

Reading Strategies


1.
4


2.
They have the same exponent on the same variable.

3.
There are no like terms.

  4.
(6x5 ( 12x4 ( 3x3

5.
18x3 ( 57x2 ( 30x


6.
7x2 ( 19x ( 6


7.
2x5 ( 10x4 ( 8x3 ( 22x2 ( 34x ( 8

Success for English Learners


1.
The final product is x2  3x  10.

2.
There is 1 x2-tile, 10 x-tiles, and 25 1-tiles.

3.

	x2
	x
	x
	x
	x

	x
	1
	1
	1
	1

	x
	1
	1
	1
	1

	x
	1
	1
	1
	1

	x
	1
	1
	1
	1


MODULE 14 Challenge


1.
Row 7: 1, 6, 15, 20, 15, 6, 1



Row 8:1, 7, 21, 35, 35, 21, 7, 1



Row 9: 1, 8, 28, 56, 70, 56, 28, 8, 1


2.
(x  y)2 x2  2xy  y2


(x  y)3  x3  3x2y3xy2  y3


(x  y)4  x4  4x3y  6x2y2  4xy3  y4


(x  y)5  x5  5x4y  10x3y2  10 x2y3  5xy4  y5

3.
The coefficients of (x  y)n are in row 
(n  1) of the triangle.  


4.
(x  y)8  x8  8x7y  28x6y2  56x5y3  70x4y4  56x3y5  28 x2y6  8xy7  y8

5.
112 121



113  1,331



114  14,641



115  161,051


6.
116  1 (6  1) (5  2) (0  1) 5, 6, 
1  1,771,561

MODULE 15 Factoring Polynomials
LESSON 15-1

Practice and Problem Solving: A/B


1.
5x2

   2.
6
lesson
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